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1p 11 Which of the following is true judging from paragraph 3? 
1 Research shows that people in post-secondary education are less 

likely to commit terrorist attacks.  
2 Statistics have failed to demonstrate a significant link between 

deprivation and suicide-bombers. 
A only 1 is true 
B only 2 is true 
C both 1 and 2 are true 
D neither 1 nor 2 is true 
 
“The research on terrorists’ national origins suggested that countries 
which give their citizens fewer civil and political rights tend to produce 
more terrorists.” (alinea 8) 

1p 12 Komt de relatie tussen burgerrechten en terrorisme eerder in dit artikel 
aan de orde? 
Zo nee, antwoord “Nee”. Zo ja, noteer het nummer van de alinea waarin 
dit gebeurt.  
 
“The sword is mightier with the pen” (titel) 

1p 13 In welke zin wordt deze bewering voor het eerst concreet onderbouwd? 
Citeer de eerste twee woorden van deze zin. 
 
 

Tekst 6  The Meyerhoff Model 
 

1p 14 What is the writer’s presupposition in paragraph 1? 
A American students choose a university mainly on the basis of its 

reputation. 
B Established universities are unlikely to give science priority over other 

subjects. 
C In the present day and age, it is paramount for students in America to 

take up science. 
D Relatively young universities should distinguish themselves in the field 

of science. 
 

1p 15 Welke universiteit wordt bedoeld met “the upstart campus”? (alinea 1) 
 
“increasing minority participation” (alinea 2) 

1p 16 Pakt de schrijver dit onderwerp later in de tekst weer op? 
Zo nee, antwoord “nee”. Zo ja, noteer het nummer van de betreffende 
alinea op het antwoordblad. 
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1p 17 Which of the following fits the gap in paragraph 5? 
A flatly rejected 
B mostly ignored 
C reluctantly shared 
D warmly welcomed 
 

1p 18 Which of the following about The Meyerhoff program is true according to 
paragraphs 6-8? 
A It allows students to conduct original scientific research at their own 

pace. 
B It is successful in persuading students to stick with their choice of 

study. 
C It primarily aims to teach science to students who have been rejected 

elsewhere. 
 
“But the numbers suggest that the school’s instructional strategy makes a 
real difference.” (alinea 9) 

1p 19 Met hoeveel argumenten ondersteunt de schrijver deze bewering in 
alinea 9? 
 

1p 20 Which of the following words fits the gap in paragraph 12? 
A alleviated 
B complicated 
C highlighted 
 
“The university community needs to absorb these lessons quickly” 
(paragraph 15) 

1p 21 Which of the following are part of “these lessons” according to the article? 
A Bringing hands-on research into the science classroom improves 

motivation and results. 
B In an equal opportunities environment, more female students opt for 

science. 
C Lowering entry requirements for the sciences results in the necessary 

growth in the number of science students. 
 

2p 22 Geef van elke van de volgende kwesties aan of de schrijver deze in de 
tekst aan de orde stelt. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 How institutional racism can be a barrier to those wishing to become 

scientists. 
2 How to resolve the problem of students dropping out of science 

courses. 
3 Why American college students consider a career in science 

unprofitable. 
4 Why the study of science is more challenging than the study of 

humanities. 
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Met vier van de vijf onderstaande citaten doelt de auteur op hetzelfde. 
1p 23 Welk citaat behoort niet tot deze vier? 

Noteer het nummer van het betreffende citaat op het antwoordblad. 
1 “migrate” (einde alinea 4) 
2 “these defections” (begin alinea 5) 
3 “jumped ship” (einde alinea 5) 
4 “drifting off” (begin alinea 8) 
5 “went elsewhere” (einde alinea 9) 
 
 

Tekst 7  Slaughter of a holy cow 
 

1p 24 Which of the following fits the gap in paragraph 1? 
A For example 
B In fact 
C Nevertheless 
D Therefore 
 
“their side of the bargain” (alinea 2) 

1p 25 In welke zin wordt duidelijk wat “their side of the bargain” inhield? 
Citeer de eerste twee woorden van deze zin. 
 

1p 26 Which of the following is true of paragraph 2? 
A It criticises Downing Street for letting down a high-principled civil 

servant. 
B It demonstrates Sir Richard Packer’s courage in taking a stand against 

the government. 
C It makes clear how Sir Richard Packer came to write his book. 
D It provides a comprehensive summary of Sir Richard Packer’s book. 

 
2p 27 Geef van elke van de volgende punten aan of dit in alinea 5 aan de orde 

gesteld wordt. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 The Major government’s inability to put up a unified front in the face of 

the BSE crisis. 
2 The Major government’s unwillingness to communicate the truth about 

BSE to the media. 
3 The Major government’s unwillingness to accept advice in the BSE 

crisis. 
 

1p 28 Wie wordt bedoeld met “the obstructive mandarin at the ministry”? 
(alinea 6) 


